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ENGLISH VERSION

Instruction : Figures on right side indicate the marks
of the question.
-1 (a) Give the detailed explanation of the working 14

of price mechanism.

OR

(a) Explain any three methods of the measurement
of price elasticity of demand.
(b) Discuss the law of variable proportions of 14
production.
OR
(b) Explain the short-run and long-run cost
curves.
2  Write short notes : (any two) _ 20
(a) Basic Economic Problem
(b) Type of Income elasticity
(c) Internal economies and diseconomies
(d) Modern approach of the cost.
3  Give very short answer of the following questions : 12
(any six)
(1) Give the meaning of price mechanism.
(2) What is basic economic problem ?
(3) Give the definition of cross elasticity.
(4) Give the meaning of price elasticity.
(6) Give the meaning of production function.
(6) State the definition of Iso-quant curve.
(7) What is marginal cost ?
(8) What is cost function ?
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Choose the appropriate options and give the 10
answers of the following questions :

(1) In which of the following economy, the price

)

3)

)
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mechanism is most effective ?
(A) Capitalist Economy

(B) Socialist Economy

(C) Mixed Economy

(D) All the above

Which of the following factors is responsible
for the basic economic problem ?

(A) Scarcity of resources

(B) Alternative use of resources
(C) Unlimited wants

(D) All the above

Which type of cross elasticity is in the
reference of substitute good ?

(A) Positive

(B) Negative

(C) Zero

(D) None of the above

If the price elasticity of demand is less than
one, we say that the price elasticity of demand
is .

(A) Inelastic

(C) Perfect elastic

(B) Elastic
(D) All the above
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In the reference of inferior goods, the income
elasticity is
(A) Positive
(B) Negative

(C) Zero

(D) None of the above

Principal cost means .
(A) Fixed cost (B) Variable cost
(C) Average cost (D) Average fixed cost

When the Marginal cost = Average cost,
which of the following cost is minimum ?

(A) Marginal cost (B) Average cost

(C) Total cost (D) Average fixed cost

When the production is zero, which of the
following cost is zero ?

(A) Total cost (B) Fixed cost
(C) Variable cost (D) Average cost

Which of the following is a characteristic of

Iso-quant curve ?

(A) Iso-quant curve has a negative slope.

(B) Iso-quant curve is convex to the origin.

(C) Iso-quant curve cannot intersect each
other.

(D) All the above
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“(10) How many are stages of the return to scale ?

(A Two B) Three
(C) Four (D) Five
GPL-1301) 7 [ 10440 ]

https://www.hnguonline.com



